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Part I :- Circle the letter corresponding to the correct answer :-

1) Solve the following system of el il aladiuly cialaall sl da (1
equations us1ng Gaussmn ._ 4x +3y =6
elimination 7 —2x—-3y=0
4x+3y =26 "
—2x—3y=0
AY, (-2,3)
N ’

B) (3,-2)

C) ('3 52)

D) (2 5'3)

2) What is the augmented matrlx u‘xuu.d\ Ui dacy gall 48 ghiaal) iS) (1
for the given system? ; AN
2X-5y—z= 7 _ «  2x-5y =15
Bx—y+z= —1 3x—y = —-12

3x —4z = O :

B) [2 -5 -1
3 -1 1

W Wi
I
pd
pd
I
ek




3
—0.2

1.2
-0.1

3) FindABif A= [(;15

] and B = [_0:

A) [0.62 —1.2
—1.5 15.4

B) [-0.62 1.2
| 1.5 -15.4

C). (15.4 -1.5]
o 1=1.2 062

D) 1-15.4 1.5
1.2 —0.62

4) Find the determinant of matrix. 9520 3a gl A% A ghuaal) 33 3 e
Then Find the inverse of [_i _1] 4y 48 gianl)

, if it exists F
A) Al =-1, A—1=[f12' _31]
B) pal=1, at=2% 3

CY jaj=-1, 4t =[1 3]
D) |A4]| = 0,does not exist uaJSM g Y

5) Find the midpoint of the line il g Aagiinual) Axbdll Ciaiial) Adadi 4%{‘ (5.
segment with endpoints Lgblgs

A(-3,4) < B(5,—6). -. A(=3,4) < B(5,-6)
A) (2, —g),-=’ ‘

B) (-1,1)

C)'(1,-1)

D) (-8,10)




6) What is the distance between

A(4,3) and B(7,—1)?

O Ot} s dBLisall 3251 (6
A(4,3) < B(7,-1)?

A) -5units .
B) 7 unlts

C) . ;5xlinits
D)/:\'i 5 units

7) Graph equation of parabola
X =— iyz

¢ (ASal) adalll syl (7
1

x=——y?%

/]
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| A

xy

4 8

NG Ry A

A) (x+3)* +(y-1* =5
B) (x+3)" +y-1)° = 29

C) (x-— 3)2 +(y+1)2 _.2.“3

D) (x+ 32 4+ (y— 12 = V29

9) Find the center E;hd radius of |

the circle with equation
x*+y*—4x+6y—3=0

A) (=2,3);r=4

B) (2,-3); r= 16
Y

Dy (=2,3); r=8

MJMM‘MJ}EJJSJAM JAJ‘(9
3l

x2+y —4x+6y—3=0




10) Write an equation for an Lt Al ) Bl adall) Adalaa 3341 (10
ellipse that satisfies each set of Ay (—2,10) and (—2,-2)
conditions , Vertices at Lad (5488) yall

(—2,10) and( ,2 —2) (fociat (1,4) and (—5,4)
(1,4) and (-5, 4) 7 '-

A) (x+2)E Lo —4)% ~1

.36 9

+ 2 _AN2

B\)? G ar N ) L

© 9 36 .

C) a2’ -9 _,
36 144

D) ¢-2° Oo+d°_ 4
9 36

11) Write an equation for hyperbola
is graphed .

12) Which equation has a ellipse as akadl) s CB el (Al Adaleal) aas (12
its graph" g . | Bl

A) 4x ;r4y =16
B). 4x _dy=16
C) d4x*+4y? =16

D) x*+4y*=16




13) Eiman is pushing the handle of
a Lawn mower with a force of 450
newtons at an angle of 56° with the
ground. Find thF magnitudes of the
horizontal and vertical
components_ -

A

A) Jxl'=252, |yl =373
BY |x| = 373 , |y|= 252
C) |x| =252, |y| = 450
D) |x| =450, |y| =373

14) Find the component form and

magnitude of A ? with initial p01nt
A(10,4) and. 1erm1nal point B(2, -2).

W )it 3 g8y Cadal) (b AY) (jlaf a8 (13
@) &a 560 439132 450 N
ol 1) 9 A88Y) LS jal) ke aa

Aaial) gk g 438 sall 3 guall 2241 (14
dkaiioq (10,4) 4l Akl SaAB
B(2,-2) 44

4B -2v37

A) AB'=(12,2)

B},;‘JAB (8,6 , 14B| = 10
0 AB:(8,—6) , |[AB| = 10

D) 4B =(-8,-6) , |AB| =10

14) Use the dot product to find the
magnitude of a'= (—4, —3)




Part Il :-
16)

ROAD TRIP Maysoon stopped for gasoline twice during a road 9l Al ple i) s 580 Sgaale g ) kally A
trip. The price of gasoline at each station is shown below. She ~ dp=ele bl a3y il JS) Gl yaw Jaull piaga agdyll

bought a total of 33.5 liters and spent AED 134.28. Use sy pal S 50eld pasil AED 134.28 cuaaly 35 L Lo
Cramer’s Rule to determine the number of liters of gasoline AU AED 396 bl gule W) (1 el Sl e

Maysoon bought for AED 3.96 a liter.

[ GAS | [Gasoline] | kb
Unleaded AEDS,QB‘
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17)Write an equation for parabola ldescribed‘ vertex(1,—3) , focus (5, 73)
(5,—3) 4“3 (1, —3) 4wl @) Alal) adadl) Uslas 2240 (17




18) Graph the hyperbola. Identify the vertices , foci and asymptotes.
o AR Agdadh g A )5 9 Ay 22 g i) 1) adaill) s ) (18
y—2) (x+1)?*

9 16
o '
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19) Find a umt vector u with the same dlrectlon asv=(—8, 15)
VvV = ( 8 15) Aalial) oha\uamﬂdﬁ\u a&j\@h\g\ (19

I I N I R R I R R R I R R R R R R R . R I R R R I R R R I I I IR IR ST AR S PR
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20) Find the angle 0 between Vectors u and v to the nearest tenth of
degree

owwyﬁuﬁ‘iduh\uﬁ u, vU.\.gA.uMuu BMJ\JS\AAJ\ (20
= (4,6)v=(2,8)




